oquiar
L J Assembly Technology 5.21-22

Floor Elements

LA

Leveling Foot-Pivot Foot

- A8

To support structure where gradual height adjustment is needed, the pivot foot has a small swiveling angle to
fit slightly uneven floor, The connection between the pivot base and the spindle can be released with a tool.
REMBAZMARZIESEFEERANERSEN, FTAER), ERTHEEEENE,
X R FFFRERTATIRRES .

Material and Color: Base-black PA6 Spindle-zinc plated steel Pad-black rubber

MERFGE: REIGERL6 BE TAT-ERGESE REBEBR Ee

Pivot Foot
Fe 1A 2 B
!' i‘ K Description D KxL Hmin. | Hmax. “ia;igﬁﬁgfﬁd Mai Part No.
i FZmiEiR (mm) | (mm) (mm) | (mm) | * ﬁ(,\i')“ (9;5 TS
il
O 59 [ M12x90 45 70 10000 152 | 5.21.60.12.90
— 79 | M12x90 45 70 10000 188 | 5.21.80.12.90
3 5’;"%%{’}&&%‘3336 79 [ mi2x130 | 45 100 10000 218 | 5.21.80.12.130
W
el T _fggi}@ﬁGF&-ﬂ: 79 | M16x130 45 100 10000 328 | 5.21.80.16.130
£ 99 [ M12x130 45 100 10000 326 | 5.21.100.12.130
oD 99 [ M16x130 45 100 10000 436 | 5.21.100.16.130
Leveling Foot-Swivel Foot
ST B-ER
To support structure where gradual height adjustment is needed, the swivel foot has a ball joint between the base
and spindle, thus allowing the foot to swivel to an angle of up to 30, When using the foot on installations that
need to be moved regularly.
KA MARIIEFTERESEMNIERSEN, REMITITEAHKERE, FELFHIEEAE
AIK30E, ERTEEMEB AL
Material and Color: Base-black PA6 Spindle-zinc plated steel Pad-black rubber
MERMEE: KE-EEEN6 B FAF-RRREESE RBSR Ee
Swivel Foot
Bk SR
a0 +30°
\\ K // Description D KxL Hmin. | Hmax. l\i-a;ﬁ;a;f;l-;-?r? Maz Part No.
\ / 7= iR (mm) | (mm) | m) | (mm) | T q | THES
\ i /
\ o / 59 | M12x90 45 70 10000 162 | 5.22.60.12.90
\ » Swivel Foot-PA 6 Base 79 | M12x90 45 70 10000 198 | 5.22.80.12.90
% PRL B 79 | M12x130 45 100 10000 228 | 5.22.80.12.130
AE: SRR R ROIRE 79 | M16x130 | 45 100 10000 338 | 5.22.80.16.130
£ 99 | M12x130 45 100 10000 336 | 5.22.100.12.130
99 | M16x130 45 100 10000 446 | 5.22.100.16.130

Modular Assembly System [ Modular Conveyor System | Stair and Platform System | Tubular Framing System | Machine Guard System [ www.moduasm.com
R T iR R 5 BRMERS | TUBSREARS IR RS HURBI IR R 5% AllRights Reserved




